Unit 3 Solving Equations and Inequalities 343
Lesson 10 Excluded Values and the Zero Product Property
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excluded? (You do not need to solve this equation.)
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Determine the excluding the value(s) of x that lead to a denominator of zero for each equation;

then, solve the equation for x.
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For each equation, determine the solution(s) using the Zero Product Property.
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Determine the excluded value for each equation. You do NOT need to solve the equation.

3 _ 4.3
15. == =5 16. ~4=-"

(21 ot 24

5)(x +6) 0. —2="%

[
xt_i__rﬁj_(o N)O QXC\UC\QCJ
| /\ [ valuweS for X

* There 1S N0 X
In denominGtor

x +3)(x +5) 4— X
X +5)(




346 Module 2 Solving Equations and Systems of Equations

21. Challenge Write an equation with the restrictions x # 14, x # 2, and x # 0.

possible  answer
S(xtr3) - T
(<~ (x-)X)

22. Challenge Use any of the digits 1—9 to create an equation with the smallest solution

possible.
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